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o000

00710000000 7202200000000000000000000
OuU00o00l, : 2°([0,1)xU) — 2r71([0,1]xU) 0 O0d Iy (a)+1,(da) =
a—7*(,*0) 00000000000 DO000ODO

o
Ia(Oé) = Z (/ fOiQ...ip(xo,l'l,...,LL'n) dl‘o) dl‘iz VAR /\dl‘ip

0<in< +<ip

000 MOOOO0O (U,)00001Y : Q°([0, 1]xp(U)) — 2P7L([0,1]x
p(U))000000000000
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00 11.11 1890 1, : 27(0,1] x M) — QP=1([0,1] x M) 000000
00 I,0dI (o) + I,(da) =a—7"(t,"a) DO 00O

00 MOOO0O0O (U,e), (V,9)0000a e 2°([0,1]x M) 0 [0,1]xo(U)
000000 oW 0deeDO0D0ODO Z foigeriy dvg Adwsy A+ Aday
0<ig< - <ip
0 id x(gotp™1) : [0,1] x p(UNV) — [0,1] x (UNV)0O000000a0
0,1 xy(V) 000000 o™ 0dee00000 Y gojynj, dzo A
0<ja<<jp

dyj, A+ -Ady;, 000, 1]x¢(UNV)0000000aY) = (id x (gp~1))*a®)
0oo0ooooooo0

(i x (porr ) IV a® = 1Mo

0oOoooooo

008700001, : 27(0,1] x M) — 2P~1([0,1] x M) 0000000
00 I, 0 dl,(a) + I(da) =a — 7*(,,*) 0000000000 7100
00000720200000000000 n

00 1112 7: [0,1] x M — M OO0 1, : M — [0,1]] x MOOODO
0000000000000000 « : HY (M) — HY.([0,1] x M),
ta*  HY (10,1 x M) — HE(M)D 00000000 or* =idgr_(ar.
1" =idgp (ouxan 00000000, = ()"t =4*0000

O0 7mor=idy 00000000 1070000 orn* =idp,*0000
idy* 0 Hyp(M)DDDOOO idle;R(M)l:ll:ll:ll:ll:ll:l

(tLeom)* = 7%, 0000000 1111 0000p >0000001, :
QP ([0,1] x M) — 2P71([0,1] x M) D Od I (a) + I, (da) = a—7* (1" @) O
0000000000a0 [0,1]xMO00 p00 (p>0)00000da=0
0000dIL(a)=a—7"(,,*a), 00000000000 [of] = [7*(ta*a)] =0
000000007, =idgs o1 D000p=00000(0,1] x M
000000 0000000000007 (L) 000000 |

00 11.13 000 C¢* 000 ¢y, 1 : M — NOOC*O0000000
00000C>®000 ¢:[0,1]xM — N OOpe=¢(0,-), o1 =¢(1,-)0
000000000000000

00 11.14 ¢y, 1 : M — NOOC® 0000000000¢e* = ¢1* 0
oo.

OO0 @o=¢ot, p1 = pou 0O0O00w* =5 : HLR([0,1] x M) —
HY (M) DO 00" = 0*¢* = 11 " = 1™ [

000 11.150 000 MOOOOOOOOOR™OOOR™xMOOOO
HYp(R™ x M)~ HY, ,(M)DDOO0O
oo #n:R"xM-—MOnn(e,y) =y0000000000:M — R™XM

0 uy)=(0,4) 0000000000000
WOL:idM[I[I[I[I(WOL)*ZL*W*zideDR(M)DDDD

P:[0,1]x R"xM — R™x MO o(t,z,y) = (te,y) 00D O0O0O00OO0ODO
01 =idrmxar, po = on 0000000000 0000000(con)* = idrmxar * =
idyp (gmxan 0000 (om)™ =77 00007%,,*000000000
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